)
2)

3)
4)
S)

6)
7)

8)
9)
10)
11)

12)
13)

14)
15)

16)
17)

18)
19)

20)

Algebra II Homework #2

Simplify: —(=1-1)* =16 +4(=3-1)-[-81=+(9(9))] - 7°
Simplify: —|-6+2|—-|]-3-1|-5]-2+]]

Graph {x|x< %} on a number line.

5.736 belongs to Which number groups?

48 ' 5 7 9°
Simplify: —(—-—)——+—
P 54 (12 ) 8 24
2 3
Simplify: ifa=-4,x=-3,d=-2,andc=-1
—2d —-c
Translate and simplify: A number decreased by the difference
between the number and seven
Simplify: —7a—-3(4a—-2)—8"—(-2-1)’ +9a

2

2
Simplify: ﬁ ifa=-3,c=-2,d=-4,and x=-1

Simplify: —6(3x—4)—20+10(=1-1)—7x—4°
Translate and simplify: The product of six and nine more than the

quotient of a number and four
2

Simplify: _y—_33“ ify=-3,a=-5,c=-4,andx = -2
—C—X

Translate and simplify: Six less than double the difference between
four times a number and three

Simplify: —2(3x" =7x+2-x")—(-9+5x —2x)—6"
3
T -X=y .. - - _
Simplify: —————— ifx=-6,y=-3,d=-4,anda=-1
Py —4d" —a* Y
Simplify: —9° —3(5x—1)—(=3+1)’ = (7x—6)
Simplify: —4(3x—1)—(=7x-2)=3(x* —4x—8)—(-1-2)’
272 3
Simplify: % 7% ifk =3 a=2,x=-4,andy=-5
—4x—y
Translate and simplify: One less than triple the difference between
ten times a number and six

Simplify: —(=7x+5)° —=6(2x—-1)—-9+3(-1-2)-2"
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